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Ergebnis
Man	sieht	einen	Knick	bei	t	=	90
N(0(L))	=	138
mx+b
Lambda	L	=	-0,005288
t(h(L))	=	131
N(0(L))	=	56,7

Da	mit	eine	Grade	für	ln(n(L))	machen,	dadurch	die	Werte	von	n	von	L	vor	90	extrapolieren.
Das	vom	gesamten	n	abziehen	=	n(k).
Davon	wieder	ln	bilden	und	Lineare	Steigung	ablesen:
Lambda	k	=	-0,03514
ln(1/2)/Lambda	=	t(h(k))	=	19,73
N(0(k))	=	81,3	

Schritte:
1
Langlebigen	Teil	bestimmen
Lambda,	N0	und	t(h)	bestimmen

2
N(t)	von	Langlebigen	für	gemischten	Teil	bestimmen

3
Differenz	zu	gesamten	Werten	bilden	=	Kurzlebige	Werte
Lambda,	N0	und	t(h)	bestimmen

Diese	Nuclide	könnten	es	sein
K	Rn	227:	22,5s
L	TL	209:	2,16min	
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